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Note : Answer questions from all the Sections as 

directed. 

 Section—A  

Note : Answer any two questions from this 

Section. 2×20=40 

1. A monopolist face a demand function 

P = 80 – 2Q , where P is price and Q is 

quantity.  6+6+8 

(a) Find the expression for Marginal 

Revenue. 



 [ 2 ] BECC–102 

B–1533/BECC–102 

(b) What is elasticity of demand ? 

(c) Does relationship between AR, MR and 

elasticity hold in this case ? 

2. Obtain and solve the difference equation in 

the following Cobweb model : 20 

Demand function : Q 125 2Pdt t   

Supply function 
1: Q 50 1.5P ,st t   

 

Where = Q is quantity 

  =  P is price 

  =  t is time 

3. (a) Explain the intermediate value 

theorem. 10 

(b) Consider the following market demand 

and supply functions : 10 

D(P) = 50 – 2P  

and       S(P) = – 10 + P  

Calculate equilibrium price and 

quantity. 
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4. Total Cost (TC) of firm is given as 

TC = 50 + 40 Q , while the demand function 

for a good is given as :  20 

Q = 50 – 0.5 P , 

where P = Price and Q = Quantity. 

Determine output level at which profit  

is maximised. Also find the maximum  

profit. 

 Section—B  

Note : Answer any four questions from this 

Section. 4×12=48 

5. (a) The sum of some terms of a G.P. is 315. 

It’s first term is 5 and the common ratio 

is 2. Find the total number of terms and 

the last term. 
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(b) Find the tenth term of G.P. whose third 

term is 16 and seventh term is 1. 

6. Calculate Producer Surplus and Consumer 

Surplus for the following demand and 

supply functions when : 

Demand function : P = 50 – 2Q 

Supply function : P = 14 + 4Q 

7. Explain the basic structure of Samuelson’s 

Multiplier–Accelerator Interaction Model.  

8. Show that the graph of the following 

equations is a parabola. Find the vertex and 

focus : 

(a) 2 4 8y x    

(b) 2 8 0x y   
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9. Discuss the methods of proof  

by contradiction and proof by  

contrapositive. 

10. Evaluate : 

(a) 
4 3

3 21

3 2
lim

5 3 1x

x x

x x x

 

  
 

(b) 
1 2 1

lim
3 1 1x

x x

x x

    
   

    
 

 Section—C  

Note : Answer both questions from this Section. 

2×6=12 

11. Write short notes on the following : 2×3=6 

(a) Point of inflexion  

(b) Limit of a sequence  
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12. Determine the values at which the following 

functions are continuous : 2×3=6 

(a) 
2

( 1)( 3)

x

x x



 
 

(b)  
4 23 1

( 1)( 2)

x x

x x

 

   
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BECC–102 

dyk Lukrd (vkWulZ)  vFkZ'kkL= 

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&102 % vFkZ'kkL= esa xf.krh; izfof/k;k¡&I 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh Hkkxksa ls funsZ'kkuqlkj iz'u gy dhft,A 

 Hkkxµd  

uksV % bl Hkkx ls dksbZ nks iz'u gy dhft,A 2×20=40 

1- ,dkf/kdkjh dk ek¡x Qyu gS % P = 80 – 2Q ] tgk¡ P 

dher rFkk Q ek=k gSA 6$6$8 
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(d) lhekUr vkxe ds fy, inca/k vkdfyr dhft,A 

([k) ek¡x dh yksp D;k gksxh \ 

(x) D;k bl ekeys esa AR, MR rFkk yksp ds chp dk 

lkekU; lEcU/k ekU; gksxk \ 6$6$8 

2- fuEufyf[kr eDDM+ tky izfreku ds vUrj lehdj.k dh 

O;qRifÙk dj mldk lek/kku vkdfyr dhft, % 20 

ek¡x Qyu : Q 125 2Pdt t    

vkiw£r Qyu 
1: Q 50 1.5Pst t    ] 

tgk¡ Q = ifjek.k gS 

 P = dher gS 

 t = le; ;k vof/k gSA 

3- (d) ek/;fed eku izes; dh O;k[;k dhft,A 10 
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([k) fuEufyf[kr cktkj ek¡x ,oa vkiw£r Qyuksa ij fopkj  

dhft, %  10 

D(P) = 50 – 2P  

rFkk        S(P) = – 10 + P  

larqyu dher vkSj ek=k vkdfyr dhft,A 

4- ,d QeZ dh dqy ykxr TC = 50 + 40 Q gS vkSj 

mlds mRikn dk ek¡x Qyu gS % 20 

Q = 50 – 0.5 P  

tgk¡ P vkSj Q Øe'k% dher vkSj ek=k n'kkZ jgs gSaA 

vf/kdre ykHk Lrj ij mRiknu vkdfyr dhft,A 

vf/kdre ykHk fdruk gksxk \ 

 Hkkxµ[k  

uksV % bl Hkkx ls dksbZ pkj iz'u gy dhft,A 4×12=48 

5- (d) ,d G.P. ds inksa dk ;ksx 315 gSA bldk igyk in 

5 rFkk lk>k vuqikr 2 gSA blesa dqy in la[;k rFkk 

vfUre in dk eku Kkr dhft,A 



 [ 10 ] BECC–102 

B–1533/BECC–102 

([k) ,d G.P. dk rhljk in 16 rFkk 7ok¡ in 1 gSA 

mldk 10ok¡ in vkdfyr dhft,A 

6- fuEufyf[kr ek¡x ,oa vkiw£r Qyuksa ds fy, mRiknd 

vfrjsd vkSj miHkksDrk vfrjssd dk vkdyu dhft, tc % 

ek¡x Qyu % P = 50 – 2Q 

vkiw£r Qyu % P = 14 + 4Q 

7- lSE;qvYlu ds xq.kd&Rojd vUr£Ø;k izfreku dh 

vk/kkfjd lajpuk dks le>kb,A 

8- n'kkZb, fd fuEufyf[kr lehdj.k ijoy; vkÏfr cukrs 

gSaA 'kh"kZ fcUnq rFkk ukfHk fcUnq dk vkdyu dhft, % 

(d) 
2 4 8y x    

([k) 
2 8 0x y   
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9- [k.Mu }kjk izek.k rFkk ifjizfrorZu }kjk izek.k dh fof/k;ksa 

ij ppkZ dhft,A 

10- ewY;kadu dhft, % 

(d) 

4 3

3 21

3 2
lim

5 3 1x

x x

x x x

 

  
 

([k) 
1 2 1

lim
3 1 1x

x x

x x

    
   

    
 

 Hkkxµx  

uksV % bl Hkkx ls nksuksa iz'uksa dks gy dhft,A 2×6=12 

11- fuEufyf[kr ij laf{kIr fVIif.k;k¡ dhft, % 2×3=6 

(d) ufr ifjorZu fcUnq  

([k) ,d Ükà[kyk dh lhek  
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12- fuEufyf[kr Qyu fdl eku ij lrr~ gSa] mldk fu/kkZj.k 

dhft, %   2×3=6 

(d) 
2

( 1)( 3)

x

x x



 
 

([k)  

4 23 1

( 1)( 2)

x x

x x

 

 
 

× × × × × 

 

 

 

 

 

 


